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QUESTION 1

Given the following work data set containing Treatment-Emergent Adverse Events:

subjecE asbhodsys asdecocd aEsesy
ooL NERVOUS 3TSTEH DISORDERS DIZZIINESS 1
ooL NEFRVOUS 3Y3TEN DISORDERS HEADACHE 2
ooL HENVOUER ZYETEN DISONDEDR? HEAD ACHE o
ool HNERVOUS 3¥YSTEM DISORDER3 DIZZINESS 2
ool NERVOUS 3YSTEM DISORDERS LETHARGY 3
W] BE HNERVOUS 3YSTEM DISORDERS DIZZINESS i
oo MERVOUS 5YSTEM DISCRDERS DIZZINESS 2
003 NERVOUS 3¥YSTEXN DISORDERS HEADACHE 3
Qo3 NEEVCOUS STSTEW DISCRDERS HEADACHE 3
003 NERWOUS 3YSTEW DISORDERS LETHARGY 2
(ulat] MEDWOUS S¥STEM DISORDEDRS LETHADCY 2

AESEY (Severityi: 1 = Mild, 2 = Hoderate, 3 = Savere

And & Br Seventy table:

Subject
3 (%)
NEMODE SYSTET DIDORDENGD
Mild 1 (ph
Moderate 1 (p)
Severe € (p)

In the space below, enter the numeric value of x for "Severe" events under HEADACHE.

Correct Answer: 2

QUESTION 2

A patient received at least one dose of study medication prior to withdrawing from a study. Which analysis population
would always include this patient?

A. efficacy

B. intent to treat
C. per protocol
D. safety

Correct Answer: D

QUESTION 3
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Given the following data set (AE):

subiject firscdo aeEterm aeatdc day
ool 28N0V2009 NOSEBLEED 27NOVZ009 =1
001 2BNOVZ009 HEADACHE O3DECZ009 &
Dol ZENOVZO009 FRACTURE DBDECZODS 11
001 28NOVv2000 VONITING 1S5DECZ00D 1B
D0z 13JANZ010 COUGH 13JANZ 010 1
ooz 13JANZ0L10 FEVER 19JANZ 010 T
ooz 13JAN2010 MIGRAINE 23IJANZO10 11
ooz 13JAN2010 DIZZINESS O3FEB2010 22

Data will be reported by onset week. Day 1 ?7 is Week 1, Day 8 ?14 is Week 2. Events beyond Day 14 are assigned
Week 3 and will be reported as Follow-up events.

Which statements properly assign WEEK to each event?

A. if day > 14 then week = 3 ; else if day > 7 then week = 2 ; else if day > 0 then week =1 ;

B. if day > 0 then week = 1 ; else if day > 7 then week = 2 ; else if day > 14 then week = 3 ;

C. select ; when (day > 0) week = 1 ; when (day > 7) week = 2 ; otherwise week =3 ; end ;

D. select ; when (day > 14) week = 3 ; when (day > 7) week = 2 ; otherwise week = 1 ; end ;

Correct Answer: A

QUESTION 4

A SAS program is submitted and the following log is written.

893 data WORK.CHECEVISITS:

294 set WORE.VISITS (keep=PATID VISDTO VISDT1 VISDTZ VISDTI VISDTY):
895 array VISDT (1:4):

= 1=13 do -i=1 to 4;

a97 if VISDT(i) ?VWISDT(1-1) gt 10 then output;
g9 end;
8599 run;

ERROR: Array subscrlpt out ol range at iine 897 colwasn 21.

What is the cause of this error message?

A. The ARRAY declaration is syntactically incorrect.

B. The IF statement is syntactically incorrect.

C. The DO loop tries to get a value from a variable which does not exist.
D. The IF statement tries to get ARRAY elements which are not declared.

Correct Answer: D
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QUESTION 5

Which name is a valid SAS V5 variable name?
A. _AESTDTC

B. AESTARTDTC

C. AE-STDTC

D. AE_START_DTC

Correct Answer: A
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